33/ Ai%’] CTET M e - No. of Printed Pages: 03

=04 © SARDAR PATEL UNIVERSITY
B. Sc. Examination (Fifth Semester)
Wednesday, 13" Nov.-2019
10.00 am to 1.60 pm
USGSCCHED2 (Organic Chemistry)
‘Total Marks; 70
Q-1 Choosc the correet option and rewrite the answer. |10]
L. The rearrangement of 1,2-dikctone in presence of strong base to form o-hydroxy
acidisknownas __ reaarangement.
(a) Sommelet {b) Beckmann (¢) Benzilic acid - (d) Favorski
2. R-COOH (i) H,804 (ii) N3H O ¢ 0
(a) R-NH, (b) H-CO-NHR  (¢) R-CN (d) R-CO-NHR
3. Betainc is an intermediate formed in |
(a) Benzoin condensation (b) Birch reduction
(¢} Wiltig reaction {d) Perkin condensation
4. .. is used to decrease blood pressurc by dilating the capillarics and
incresing the heart rate
(a) Hypnotics  (b) Histamine  (¢) Antihistaminc (d} Sedative
S, In abnormal condition the blood does not coagulate and excessive bldod_ blecding
occurs isknownas
(a) anemia (b) gout (c) hacmophilia (d) bronchitis
6. Refampinisaclassol  drug.
(a) Antitubercular (b) Antileprosy  (c) Antiseptic  (d) Antimalerial
7. . isuscd for the detection of carbonyl group in terpenoid chemistry.
(ay KMnQ, (b) O, (c) conc. HINQO, (d) NIH,OH
8. Citral undergo ozonolysis then followed by hydrolysis yields |
(a) Glyoxal (b) Laevulaldchyde (c) Acctone (d) All of these
9. _ _ isan example of o,B-unsaturated carbonyl compounds.
(a) Acrolein  (b) Acetoacctic cster (c) Acctone (d) Acetaldchyde
10. _.1s a male hormones.

(a)(;cqtogcns (b} Cortisone (c) Ocstrogens (d) Androgens
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Q-2 Atlempt any ten questions of following,

L
2.

Q-3
[A]

[B]

Q-3

{A]

Why Hoffmann-Foeftler reaction fails to procced in the dark ?

Explain : Birch reduction of benzoic acid gives 1,4-dihydrobenzoic acid.
Give the preparation method of Wittig rcagent.

What arc the requircs
Give the structure ,use and class of Avil drug,

Discuss the mode of action of antipyretic drug.

Write the synthesis of Terpenylic acid {from Lthylacetoacetate.
Give the oxidation product of camphor and a-pinenc

Why steam distillation method employ carefully ?

How will you determinc the presence of keto group in oestrone ?
Differentiate between Hormenes and Vitamins.

Predict the product of the following:

Ethylacrylate -+ Iithylacctoacctate —— BLLASARY

Attempt the following,

(i) How will you convert Kctone into N-substitutcd amide ? Suggest appropriate
reaction mechanism involved in it

(i) Write the reaction mechanism of Mannich Reaction,

Explain : In unsymmctrical benzil the aryl group with clectron donating
substituent group migrate faster.

. OR
Attempt the following,

Complete the following reaction and give detail stepwise mechanism. Also give the
name of the reaction.

(i) Benzaldehyde + Aceticanhydride NaOQAc ?
—— T

(ii) Bcnzyltfinmthyiammonium iodide NaNt; ?
e

Write the reaction mechanism for the formation of o, B -unsaturated ester from gem and
vicinal dihaloketones.
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Q-5
{A]

(8]

Attempt the following,

Write the synthesis, uses and class of the following drugs.
(i) Dimenhydrinate (ii) Nirvanol

Discuss the mechanism of action of sulpha drugs.

OR
Attempt the following,

Write the synthesis for the following.

(i) Drug used for the treatment of General Convulsions in children.

(i) Drug used in the treatment of Urticaria and certain type of Asthma.
(iii) Drug used as a Rodenticide.

Discuss the classification of drugs on the basis of their therapeutic action.

Attempt the following,

(i) Write the synthesis of citral using Aren-Van-Dorp’s synthesis.
(ii) Prove that Nerol is a gecometrical isomer of Geraniol.
Discuss in detail “The special isoprene rule™,

OR

Attempf the following,
(i) Write the synthesis of Linalool from 3-methyl-1-butanol via Ruzicka synthesis
(i) Discuss the relation of Linalool with Geraniol.

Discuss Wallach’s oxidative degradation of « - terpeniol.

What is Michael addition reaction? Discuss your answer with suitable illustration and
also write the mechanism. Differentiate between clectrophilic addition and
nucleophilic addition reactions on «, - -unsaturated carbonyl compounds.

OR

How will you confirm the position of keto group and angular methyl group in
oestrone ? Also write the synthesis of Testosterone from Cholesterol via Mamoli’s
synthesis. —
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Answer the following (ANY TEN)
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“Answer the following:
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(i) Benzaldehyde + Aceticanhydride NuOAe ?

(ii) Benzyltrimethylammonium iodide  NaNH, ’ ?
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